© 2x-15=-6-x

) —x—-4=3x
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® 2(x-4)+1

= 2x

5—3x

@ 3x-




(¢}

=

oo

T s 82 A

o

AR TR Y

® a-1=b-2°Ha=>hb-10°|t}

@ b=3°" b+ x=x+30|T}.

® 3(a-2)=3(b-2)°1H a=bolt}.
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D 4x-3=5=>4x=5+3
O x2=—x+4=>x+x=4+2
© 7+2x=6-8x=>2x—-8x=6+7

® -3x+5=2x-3=> -3x—-2x=-3-5

@ 9x+l=4x=9x—4x=-1
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@ 4x-3=2x+15
© 2(4x+1)=3(5x-6) -1
© 3x-4=2(x+1)
® 5x-3=3(x+1)

@ x-1=2x+5
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DO 40-x=2 @ 40+ x = -2 @ 40-3x=2

40
@ 40x+ 3x = -2 @g—i—x:



® 2(x-3)=4+2(x-5)

@ 35x—-4=15x-4
3x-3 2x—2
® 6 4

1 1
@ 1X+3—§X+4

@ 5x=10-5
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-3x+27T=6x,4x+a=38
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+3 = ax—10°] x o et LA 4] 57| A%t a 9

@D a+2 @ a+3 ® a+-2

@ a+-3 ® a#0
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